
TWIN BED FRAME



1 2 3

4 5 6

7 8 9

10 11 12

14 15 16

17

X1 X1 X1

X2 X1 X1

X1 X1 X2

X1 X1 X1

X10 X1 X1

X1

A B C D E F

G H I J K L

N

X4 X4 X4 X7 X2 X16

X3 X4 X2 X2 X3 X3

X20

M8X30 M8X12 M8 M6X40 M6X60 M6X35

M6X30 M6 M6X10

18 X1 19 X1

M

ST4X12

X2



Difference screws display(1:1)

M8X30

M8X12 M8 M6

M6X40

M6X60

M6X35
M6X30

M6X10

M8:Screw outer diameter 8mm
M6:Screw outer diameter 6mm

Step  1

1 2

#1 and #2 
identification graph

E

E

E

F

F

F
F

F
F

#1 is located on the left side
#2 is located on the right side

Hole
Hole

1

2

12

3

E
F

M6X60
M6X35

2
4



M M

18 16

17

19

J

J K

K

K

K

15

J

K

2

3

2M ST4X12Step  2

Step  3

Step  4

Please distinguish the direction of 
the LED lights and make it face outward



Step  5

D
D

1

2

D M6X40 4

D
D

D

D

15

16

Step  6

Step  2

Step  4



Step  7

D

D

D M6X40 3

L

L 3

D

D

L
L L

K

L

Get Part   and   connected:I J
Step  8



Step  9

I

G M6X30 3

I M6X10 2

17

3 G GG
I

Please use M6X30 screws,
don't use M6X35 screws

× √

I G

Step  10

1

2

The receiver modular should not be hidden, 
otherwise the remote controller won't work.



1

2

6

5

4

A

AC

C

F

A

CF

A
C

F

A
C
F

M8X30

M8

M6X35

4

4

2

11

10

4

8

F

F

F
F

F
F

F

F

F

F M6X35 6

Step  11

Step  12



FF
FF

HH

HH

HH

F F

F M6X35 4

H 4

7

9 9

2 3

B
B

B M8X12 4

6

5

11

10

Step  13

B B

B B

Step  14



14

14 =10pcs

Step  15

=2 PCS0N

N

Step  16


	图纸1
	工程图视图1




